
Part Size Material ring yes/no Grease/paste Tightening torque Other comments

MJ seatpost bolts M6x30 Galvanized steel Yes Grease 10Nm

Eccenter bolts M6x30 Stainless steel Yes Grease 14Nm

Pinion bolts M6 No stainless steel with C series No Locktite 10Nm Pay attention to order Grease between frame and box

Spider No Dry 40Nm With P series 30Nm

Cranks M5 Locktite 10Nm Also applies to middle bolt

Spanrol arm M5 No stainless steel with C series Locktite 4Nm

Lockring CDX

Body Go-Swiss/NeoDrive Grease 5Nm

Pendix left BB BSA Grease 65Nm

Pendix right BB BSA Grease 45Nm

Pendix pedal Grease 35Nm

Pendix plug on bracket 4Nm

Blade bolts No Locktite 14Nm

Adventure/Literack M6 Yes Locktite 10Nm Also ring between carrier and frame

Crank bolts Grease 32Nm

Split part 4 Bolts M5x15 Stainless steel No Grease 8Nm

Spit part 1 Bolt M8x20 Galvanized steel Yes Grease 15Nm

General M4 5Nm

M5 8Nm

M6 12Nm

See part for tightening torque!


